T | - SR I3 T IR ] ¢
(1) s

(2) o< HE S UA

(3) TUEEE w9

(4) ®i = vA

Options :

212807116877. 1
212807116878. 2
212807116879. 3
212807116880. 4

General Test

Group Number : 2

Group Id : 212807633
Group Maximum Duration : 60

Group Minimum Duration : 60

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 250

Is this Group for Examiner? : No
Examiner permission : Cant View
Show Progress Bar? : No

General Test

Section Id : 212807741
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 60
Number of Questions to be attempted : 50

Section Marks : 250
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2128072121
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 51 Question Id : 21280729126 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

A cone of height 24 cm and base radius 6 cm is made of modelling clay. A child reshapes it in the
form of a sphere. The radius of the sphere is :

(1) 3 cm
(2) 12 cm
(3) 9cm
(4) 6cm
Options :

212807116501. 1



212807116502 2
212807116503. 3
212807116504. 4

Question Number : 51 Question Id : 21280729126 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Teh 24 Tt T Oigs it Farett fredt & & € 35t oeR B 6 It § 1 U etk 39 el W STeRR Sl
R EIREC IR

(1) 3 &§Hl

(2) 12 &I

(3) 9 EHl

(4) 6 9t
Options :

212807116501. 1
212807116502 2
212807116503. 3
212807116504. 4

Question Number : 52 Question Id : 21280729127 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

The ratio of working efficiency of A and Bis 4 : 5. If A alone completes the work in 15 days then
in how many days can B alone complete the work ?

(1) 15 days

(2) 12 days

(3) 16 days

(4) 20 days
Options :

212807116505. 1
212807116506. 2
212807116507. 3
212807116508. 4

Question Number : 52 Question Id : 21280729127 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ




A 3i B o1 9 A hi &THAT o1 ST 4: 58 1 AT A 3kl a4 ol 15 fedl | 90 &3 § a1 B Sihell 39
1 I feha feAl | 9 e ?

(1) 15f@

(2) 12f@

(3) 16 fe

(4) 20 feA

Options :

212807116505. 1

212807116506. 2

212807116507. 3
212807116508. 4

Question Number : 53 Question Id : 21280729128 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

What is the mode of the following data ?
4.6,5,9.3. 2 7.7,6,5,4,9 10.10; 3,4, 7. 6,9,9

1 7
(2) 6
@) 9
(4) 10
Options :

212807116509. 1
212807116510. 2
212807116511. 3
212807116512. 4

Question Number : 53 Question Id : 21280729128 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

e sifeRel o1 agas 8 ?
4,6,5,9,3,2,7,7,6,5,4,9,10, 10, 3, 4,7, 6,9, 9

1 7
(2) 6
3 9
(4) 10

Options :

212807116509. 1
212807116510. 2
212807116511.3
212807116512. 4

Question Number : 54 Question Id : 21280729129 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :



Key Value
Comprehension MCQ

Four persons are choosen at random from a group of 3 men, 2 women and 4 children. The
probability of having 2 children out of 4 is :

1
i 5
1
? 3
10
(B) 3
1
4) 75
Options :

212807116513. 1
212807116514.2
212807116515. 3
212807116516. 4

Question Number : 54 Question Id : 21280729129 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

3 G&Hl, 2 Afgcisil 91 4 deish] & Teh 998 H § 91 Al Fgf=os &9 ¥ g4 | IR § § 2 =[clh 8 i
YTfrehdl 1§ ?

1
i 5
1
@ &
10
() 57
1
4) 75
Options :

212807116513. 1
212807116514.2
212807116515. 3
212807116516. 4

Question Number : 55 Question Id : 21280729130 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ




The mean proportion between 4 and 64 is :

(1) 64
(2) 16
(3) 45
(4) 24

Options :

212807116517. 1
212807116518. 2
212807116519. 3
212807116520. 4

Question Number : 55 Question Id : 21280729130 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
4 3R 64 % =9 HEAHIINTS €
(1) 64
(2) 16
(3) 45
(4) 24
Options :

212807116517. 1
212807116518.2
212807116519. 3
212807116520. 4

Question Number : 56 Question Id : 21280729131 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

The angle of elevation of the sun, when the length of the shadow of a tree is equal to the height of
the tree is :

(1) 30°
(2) 45°
(3) 60°
(4) 90°

Options :

212807116521. 1
212807116522.2
212807116523. 3
212807116524. 4

Question Number : 56 Question Id : 21280729131 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ




9 U U ol WSE HI ddrE 39 U i AR & I9H ardl € o 3 o1 3199 B ¢ :
(1) 30°

(2) 45°
(3) 60°
(4) 90°

Options :

212807116521. 1
212807116522.2
212807116523. 3
212807116524. 4

Question Number : 57 Question Id : 21280729132 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

For which value of the k, the pair of linear equations has no solution
6x—3y+10=0 and kx—y+9=0:

(1) 1
(2) -1
3) 2
(4) -2
Options :

212807116525. 1
212807116526. 2
212807116527. 3
212807116528. 4

Question Number : 57 Question Id : 21280729132 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

k % forg o & fore thae Tl 1 8 3 718 21
6x—3y+10=0 X kx—y+9=0

(1) 1
2 -1
3) 2
(4) -2

Options :

212807116525. 1
212807116526.2
212807116527. 3
212807116528. 4

Question Number : 58 Question Id : 21280729133 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




‘A’ spins a spinner that is split into 10 equal sections marked as 1, 3,2, 1, 2,2, 3,1, 2, 1. What is the
probability that the spinner will land on number 2 ?

(4)

Options :

212807116529. 1
212807116530. 2
212807116531. 3
212807116532. 4

—
R]
o —
U= R~ v Sl'_'

Question Number : 58 Question Id : 21280729133 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

‘A’ o T ST 10 SER 1Tl | o1 g3 § IR o W 9 @i 1,3, 2,1, 2, 2,3, 1, 2, 1 ifekd &, 1 gHm
% | FoaeR % 2 3fe 3T ot Wifdrekan B

(4)

Options :

212807116529. 1
212807116530. 2
212807116531. 3
212807116532. 4

—
%)
o —
Ul = M| = ] =
| | Ut | Olr—\

Question Number : 59 Question Id : 21280729134 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ




Match List - T with List - IL

List - I List - IT
(Shape) (Area)
(A) Square () ma?
(B) Triangle (I) bxh
(C) Circle (Ill) axa
(D) Parallelogram (IV) %b xh

Choose the correct answer from the options given below :
(1) (A)-(0), (B)-(I0), (O, (D)-(IV)

(2)  (A)-0), (B)-(1V), (©)-(I), (D)-(IT)
(3) &) (H) (B)-(I1D), (C)-(1D), (D)-(1V)
(4)  (A)-(IV), (B)-(), (O-1V), (D)-(T)
Options :

212807116533. 1
212807116534.2
212807116535. 3
212807116536. 4

Question Number : 59 Question Id : 21280729134 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Telt-1 & Fefl-11 1 o SIS
1:@"\'.1 -11
( 3MTeRfd) ( &THA )

(A) = () ma?
(B) Ty () bxh
(C) dd () axa
(D) HHdG FqS (IV) %bxh

= feu TTu fashedi # 9 W& 39T 1 994 Hif9U ;
(1) (A)-(D), (B)-(I), (O)~(11I), (D)-(IV)

(2) (A)-IID), (B)-(IV), (O)-(), (D)-(II)

(3) (A1), (B)-(III), (O)-(1D), (D)-(IV)

(4) (A)-1V), (B)-(D), (O-1V), (D)-()

Options :

212807116533. 1

212807116534.2

212807116535. 3
212807116536. 4



Question Number : 60 Question Id : 21280729135 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

How many 3-digit even numbers can be formed by using the digits 1 to 9 if no digit is repeated ?
(1) 80

(2) 224
(3) 288
(4) 504

Options :

212807116537. 1
212807116538.2
212807116539. 3
212807116540. 4

Question Number : 60 Question Id : 21280729135 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
19 9 371 1 3TN FTh T foret 3ieh 1 S 3 el i fohel HEAd = Hehell © 2
(1) 80
(2) 224
(3) 288
(4) 504
Options :

212807116537. 1
212807116538.2
212807116539. 3
212807116540. 4

Question Number : 61 Question Id : 21280729136 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

In a certain store, the profit of an article is 380% of the cost. If the cost increases by 20% but the
selling price remains the same, what percentage of the selling price is the profit :
(1) 40%

(2) 75%
3) 70%
(4) 60%

Options :

212807116541. 1
212807116542.2
212807116543. 3
212807116544. 4

Question Number : 61 Question Id : 21280729136 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

fordt TAfY=d g W, T WM W A1 39F T 963 HT 380% ¥ A HF ged 20% dgd § W fawa
e HHM &1 8, a1 ey fasha 9o o1 foran wfaem (%) €72

(1) 40%
(2) 75%
(3) 70%
(4) 60%
Options :

212807116541. 1
212807116542.2
212807116543. 3
212807116544. 4

Question Number : 62 Question Id : 21280729137 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

A monthly bus ticket costs 20 percent more than a single ticket. A week’s extension can be had for
the former by paying 10% of the monthly ticket's cost. If the money paid for the monthly ticket

(with extension) is ¥ 660, then the price of the single ticket is :
(1) < 580

(2) <500

(3) X 560

(4) T 600
Options :

212807116545. 1
212807116546. 2
212807116547. 3
212807116548. 4

Question Number : 62 Question Id : 21280729137 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

ek I &9 feshe &1 9o Uohdl foshe o Jed 9§ 20% 31fHeh 8 | Hifdes feshe o 9 1 10% Y7 6tk
ek HIE 1 feshe § sk W ol faedr foran ST wera € | Afe wifaes fesre (fasamo & |i9r) & 9aE o fog
YT 660 T, O Thd fehe FT A © -

(1) T 580
(2) T 500
(3) 560
(4) T 600
Options :

212807116545. 1
212807116546. 2



212807116547. 3
212807116548. 4

Question Number : 63 Question Id : 21280729138 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

An article is sold at a certain price. By selling it at 2/3 of that price one loses 10%. Find the gain
percentage at original price :

(1) 35%
(2) 40%
(3) 45%
(4) 50%

Options :

212807116549. 1
212807116550. 2
212807116551. 3
212807116552. 4

Question Number : 63 Question Id : 21280729138 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Tk 9HH 1 forst v goa o 9= 790 36 ged  2/3 g W 9= W Al @l 10% i T T,
YR oI 9 o Wiaeid F1d hifsd |

(1) 35%

(2) 40%

(3) 45%

(4) 50%

Options :
212807116549. 1
212807116550. 2

212807116551. 3
212807116552. 4

Question Number : 64 Question Id : 21280729139 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

A, B, C, are three points on the circumference of a circle and if AB= AC=542, 2 BAC=90° then
radius of the circle is

(1) 10 cm

(2) Scm

(3) 20 cm

(4) 15cm
Options :

212807116553. 1



212807116554. 2
212807116555. 3
212807116556. 4

Question Number : 64 Question Id : 21280729139 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

g9 &1 TRfY | A, B, C, @ fag ® sk afg AB= AC =52, 2 BAC=90°, T g1 =i == gl

(1) 10 &

(2) 5 HHl

(3) 20 FHi

(4) 15 9
Options :

212807116553. 1
212807116554.2
212807116555. 3
212807116556. 4

Question Number : 65 Question Id : 21280729140 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

The unit digit in the product (784 X618 X 917 x463) is :

1) 3
(2)
(3)
(4)
Options :
212807116557. 1
212807116558. 2

212807116559. 3
212807116560. 4

o Ul e

Question Number : 65 Question Id : 21280729140 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

'Value

Comprehension

MCQ

TUHEEA (784 X 618 X 917 x 463) H IHE 1 31 ¢ :

() 3
(2) 4
3) 5

2

(4)
Options :
212807116557. 1
212807116558. 2
212807116559. 3



212807116560. 4

Question Number : 66 Question Id : 21280729141 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

‘A’ rides a cycle at an average speed of 30 km/h and reaches the destination in 6 hours. B covers
the same distance in 4 hours. If A increases the average speed by 10 km/h and B increases the
average speed by 5 km/h What would be the difference in their time taken to reach the destination ?
(1) 24 min

(2) 30 min
(3) 27 min
(4) 54 min

Options :

212807116561. 1
212807116562. 2
212807116563. 3
212807116564. 4

Question Number : 66 Question Id : 21280729141 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

A 30 w1/ =it bl 3Tred e & |igferel sl Yarl dl @ iR 39T T+dd TIF W 6 5 H 9g=di ¢ | B 99H
o A 4 5 H g w1 &1 A A 9 i = 1 10 foRl/sier | qen B 5 foRdl/ e | Sgrn ® d 396
TT<1ed O g d- § 9 o a1 2R 2

(1) 24 fA7e

(2) 30 fae

(3) 27 fAe

(4) 54 fo1e
Options :

212807116561. 1
212807116562. 2
212807116563. 3
212807116564. 4

Question Number : 67 Question Id : 21280729142 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ




A well has to be dug out 20 m deep and its radius is 3.5 m. Find the cost of plastering the inner
curved surface at ¥ 5 per square meter.

(1) T 750

(2) T 2,200
(3) T 1,000
(4) T 1,750

Options :

212807116565. 1
212807116566. 2
212807116567. 3
212807116568. 4

Question Number : 67 Question Id : 21280729142 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Uk FeT forgert Mewd 20 o dun B 3.5 H ® 1 @iel 1 25 Ui ot B X idfier g% T8 & T
T Hed 1A hiTST

(1) %750
(2) % 2,200
(3) T 1,000
(4) % 1,750
Options :

212807116565. 1
212807116566. 2
212807116567. 3
212807116568. 4

Question Number : 68 Question Id : 21280729143 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

A woman wants to give ¥ 32,800 to her two grand children aged 17 years and 18 years. They must
get the annual amounts when they are 20 years at 5% p.a. compound interest. Find the present
share of the younger grand child.
(1) < 12,800
(2) < 16,400
(3) < 16,000
(4) < 8,400
Options :
212807116569. 1
212807116570. 2

212807116571. 3
212807116572. 4

Question Number : 68 Question Id : 21280729143 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :



Key Value
Comprehension MCQ

T Hfeen 3199 q Ui, foeT 31 17 o 18 7 €, W T 32,800 I =Rl § 1 F 20 99 W Y T 5%
Thgfeg =TS Il R G aiftfer M UH F €, DN U 1 FauH TR Frd wifew )

(1) % 12,800

(2) % 16,400

(3) % 16,000

(4) 8,400

Options :

212807116569. 1
212807116570. 2
212807116571. 3
212807116572. 4

Question Number : 69 Question Id : 21280729144 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
The area of a right-angled triangle with base 3 m and hypotenuse 5 m is :
(1) 4 m?
(2) 12m?
(3) 6m?
(4) 15 m?
Options :

212807116573. 1
212807116574.2
212807116575. 3
212807116576. 4

Question Number : 69 Question Id : 21280729144 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
TR 3 41 a1 ol 5 | o GH S &R ©
(1) 4= =
(2) 127 H
(3) 6@ A
(4) 1597 |
Options :

212807116573. 1
212807116574.2
212807116575. 3
212807116576. 4

Question Number : 70 Question Id : 21280729145 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :



Key Value

Comprehension MCQ
17t term of the A.P. 13, 16,19, 22, 25, . . . . is :
(1) 67
(2) 58
(3) 61
(4) 64
Options :

212807116577. 1
212807116578.2
212807116579. 3
212807116580. 4

Question Number : 70 Question Id : 21280729145 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
@ 49t 13,16,19,22,25,... . F17q W :
(1) 67
(2) 58
3) 61
(4) 64
Options :

212807116577. 1
212807116578.2
212807116579. 3
212807116580. 4

Question Number : 71 Question Id : 21280729146 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which letter is 6t to the left of T in the letter series ?

1 ]
(2) K
3) L
(4) N
Options :

212807116581. 1
212807116582.2
212807116583. 3
212807116584. 4

Question Number : 71 Question Id : 21280729146 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




A EAT H i 91 &R ‘T & o0 BS TH WS ?
(1)
(2)
(3)
(4)
Options :
212807116581. 1
212807116582. 2

212807116583. 3
212807116584. 4

A

= e

Question Number : 72 Question Id : 21280729147 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Which one from the four answer figures should come at the right of the problem figures to complete
the series logically :

A O|A O
M O M O M
M A A MO A

"J

(4) M

Options :

212807116585. 1
212807116586. 2
212807116587. 3
212807116588. 4

Question Number : 72 Question Id : 21280729147 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ




1 9r SR snepfadi § 4 auecHs SAhfadl i deh &9 9 g A & foru S9F < | i g stepfa
a1t =ifen

AMOAO OM & -
M A A MO A

~J

(4) M

Options :

212807116585. 1
212807116586. 2
212807116587. 3
212807116588. 4

Question Number : 73 Question Id : 21280729148 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

Which among the four answer figures will be formed from the cut out pieces given in the question
figure ?
Question

figure Answer figures

) ® )
A
@) (B) © (D)

Vi
[NO

1) @A)
(2)  (B)
3 (©
4) (D)
Options :

212807116589. 1



212807116590. 2
212807116591. 3
212807116592. 4

Question Number : 73 Question Id : 21280729148 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

77 =R SR stepfadi © @ F ©f sepfa w9 smepfa o feu o fawdi gra 5 wendt B
UV SR IO Sepfaat

. O )

(A) ®) ©) D)

M @A)
(2) (B)
3) (©
4) (D)
Options :

212807116589. 1
212807116590. 2
212807116591. 3
212807116592 4

Question Number : 74 Question Id : 21280729149 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Choose the alternative figure in which the problem figure is embedded problem figure :

(4)

Options :

212807116593. 1
2128071165%4.2
212807116595. 3
212807116596. 4

Question Number : 74 Question Id : 21280729149 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




fasredtar aepfaal & s ©t eehfa § guen stefa 3id: Tenfug Erft 2

(4)

Options :

212807116593. 1
212807116594. 2
212807116595. 3
212807116596. 4

Question Number : 75 Question Id : 21280729150 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Group the given figures onto three classes using each figure only once.
D E N U W H B M A

@@ (B (© @ @ & (@ b O

(1} @.d; g) (b.e€); (b, i)

(2) (a.d; g) (b,eh)(c L i)

(3) (b 9)i(d e (g h i)

@)(d&b)&hﬂN&GD

Options :

212807116597. 1

212807116598 2

212807116599. 3
212807116600. 4

Question Number : 75 Question Id : 21280729150 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

|Key Value




|Comprehensi0n |MCQ

T ST ohl hadl Uesh IR WART hid gU, & T8 SAhfadl o1 o9 a1 H HHE 16T |
D E N U w H B M A
@ () (© @ () B @ {H @

(1) (ad, gy (be o) h, i)

(2) (a d, g) (b e h)(cfi

(3) (b 0 (d e (g h, i)

(4) (d g b)(chf(ci
Options :

212807116597. 1
212807116598.2
212807116599. 3
212807116600. 4

Question Number : 76 Question Id : 21280729151 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

In a class of 48 students Meena’s rank is 18t from the bottom. What is her rank from the top ?

(1) 31st
(2) 25th
(3) 27th
(4) 30th

Options :

212807116601. 1
212807116602. 2
212807116603. 3
212807116604. 4

Question Number : 76 Question Id : 21280729151 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
48 Tanfoidi =t e ® o1 o1 = A 1897 T § | TR W SHH 1 WF § 2
(1) 319t
(2) 259t
(3) 27af
(4) 30at
Options :

212807116601. 1
212807116602. 2
212807116603. 3
212807116604. 4

Question Number : 77 Question Id : 21280729152 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :



Key Value
Comprehension MCQ

P is the uncle of Q, who is the daughter of R and R is the daughter-in-law of S. How is P related to
S?

(1) Son

(2) Cousin

(3) Brother

(4) Father
Options :

212807116605. 1
212807116606. 2
212807116607. 3
212807116608. 4

Question Number : 77 Question Id : 21280729152 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
P,Q 3i&a Tl Q R TA & SRR, SH FE TP, ST Hd Haferg 82
)
(2) =EU VR
(3) e
(4) fo@
Options :

212807116605. 1
212807116606. 2
212807116607. 3
212807116608. 4

Question Number : 78 Question Id : 21280729153 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
Statement : Mostly people who stop smoking gain weight.

Assumptions : LIf one stops smoking one will gain weight.
II. If one does not stop smoking, one will not gain weight.
Read the statement and assumptions and decide which of the assumptions is implicitin the statement.

(1) If only I is implicit

(2) If only Il is implicit

(3) If both I and II are implicit
(4) If neither [ not II is implicit

Options :

212807116609. 1

212807116610. 2

212807116611. 3
212807116612. 4



Question Number : 78 Question Id : 21280729153 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

HAT:  HUUH 9% H ok A1G SR K H IR T a1 2 |
WA : 1 A I YU §E T €, SHE 9R T

I i< RIS YU o€ T8l Ll I, SHRT 9 T8l g |
e e Araisii @ g qun Af fuffa &1 fF o8 4 #m o we aron fAfga @

(1) aa 1 ¥ron fAfed 71
(2) ad I8 gron fAfed 7
(3) 1R 1121 21 uron ffea €1
(4) FE LA g I aron fafea 71

Options :

212807116609. 1
212807116610. 2
212807116611. 3
212807116612. 4

Question Number : 79 Question Id : 21280729154 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Choose the odd one out from the following :

(1) Frog

(2) Fish

(3) Snake

(4) Hen
Options :

212807116613. 1
212807116614.2
212807116615. 3
212807116616. 4

Question Number : 79 Question Id : 21280729154 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

forerferfiad & S8 i <t gad @ ¥

(1) Hew
(2) wEl
(3) HH

(4) Tl

Options :




212807116613. 1
212807116614. 2
212807116615. 3
212807116616. 4

Question Number : 80 Question Id : 21280729155 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Choose the number which is different from others in the groups ?
751, 734, 981, 853, 532

(1) 532
(2) 751
(3) 981
(4) 734

Options :

212807116617. 1
212807116618. 2
212807116619. 3
212807116620. 4

Question Number : 80 Question Id : 21280729155 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

g § 9 39 g &1 g S gud gene | fym g 2
751, 734, 981, 853, 532

(1) 532
(2) 751
(3) 981
(4) 734

Options :

212807116617. 1
212807116618.2
212807116619. 3
212807116620. 4

Question Number : 81 Question Id : 21280729156 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Read the following information carefully and answer the given question.
Nine friends A, B, C, D, E, F, G, H and [ are sitting around a circle facing the centre. I sits fifth to
the right of G. C is not an immediate neighbour of either G or I. B sits between H and E. C sits
fourth to left of the E. D sits second to the right of F. H is not an immediate neighbour of I. Which
of the following is D’s position with respect to B in the anti-clockwise direction starting from B ?
(1) Fourth to the left
(2) Third to the right
(3) Fifth to the right

(4) Fifth to the left
Options :
212807116621. 1
212807116622. 2

212807116623. 3
212807116624. 4

Question Number : 81 Question Id : 21280729156 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

frtferfa gam 1 erryde ey @i fa T e & S

T e A, B,C, D, E, F, G, H 3iR [ T& et o 91 3R g ol % T@ & o3 1 1, G & W F gi=d
TH WS 81 C, G 3R 11 Feheaq v 78l €1 B, HIREMF T 93181 C, E S o ¥ = ©H T
T Z1 D, F & I H THI T WIS € | H, 151 Fiehean TSt 781 €1 B | IR H3h, amEd faun d B
&I g § D i feafg @ &2

(1) =g & =ed

(2) =W #

(3) T H giwEt

(4) ST F e
Options :

212807116621. 1
212807116622. 2
212807116623. 3
212807116624. 4

Question Number : 82 Question Id : 21280729157 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ




Which conclusion definitely follows from the given statement :
Statement : A private medical college has started a cell which will conduct counselling
workshops in the field of stress management to patients and general public.
Conclusion : I.  The hospital has needed resources to start such activity.
II. Patients and general public feel a need to have such cell in the hospital.
(1) If only conclusion I follow;
(2) If only conclusion II follow;
(3) If either I or II follows;
(4) If both I and II follow

Options :

212807116625. 1
212807116626. 2
212807116627. 3
212807116628. 4

Question Number : 82 Question Id : 21280729157 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

feu e 9 % &1 fshy farerar 21
wmUF ;U frsit Bfewa Fo § Uw A I forn & S W @R o S % foe a9re yeivE % e
T el e sTESd ST
fend (1. 39 TE I fafafeEl w IE F @ o reudTe S SEIe ai SewgehdT gl ¥
11 Tt 3IR 3T Sar searet § U8 el Sl Sevd Hegd Fd © |

(1) =af Faa frerd 1 SFE & T
(2) afg Faa Frerd 111 STE &
(3) AfG =T AT 11 1 STTE0T Ll 2 |
(4) Afe AT 13RI SATH a1 2|
Options :

212807116625. 1
212807116626. 2
212807116627. 3
212807116628. 4

Question Number : 83 Question Id : 21280729158 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ




The two statements of the question followed by two conclusions I and II. Read the conclusion and
decide most suitable answer.

Statement : No red is black.
Some black are yellow.

Conclusions :

I.  No yellow is red.

II.  All red being yellow is a possibility.
(1) If only conclusion I follows
(2) If only conclusion II follows
(3) If both conclusion I and II follows
(4) If none of the conclusion follows

Options :

212807116629. 1
212807116630. 2
212807116631. 3
212807116632. 4

Question Number : 83 Question Id : 21280729158 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

frefafaa gei § <1 %ue fou g, 39 =g 31 fmh 1 3iR 01 fehd 9¢ 3R 3uge 3ar ad i
A HIE AT HleAl Tl
FS el Tl §

et -
L e dien o T8 8
1L |ft ot & diet 89 BT Hre §
(1) haa frsrY [ S8 FI@ 3,
(2) e R T STTER0T o3 &,
(3) afe I fpd 18R 11 o1 ohtd
(4) afg wiE ot Frrerd SR 7 a1 §

Options :

212807116629. 1
212807116630. 2
212807116631. 3
212807116632. 4

Question Number : 84 Question Id : 21280729159 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ




Given below are two statements : one is labelled as Assertion A and the other is labelled as
Reason R :

Assertion A : Food materials should not be soaked in water for a long time.
Reason R : Washing leads to loss of vitamin A and vitamin D from the food stuff.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both A and R are correct and R is the explanation of A

(2) Both A and R are correct but R is NOT the correct explanation of A
(3) A is correct but R is not correct

(4) A is not correct but R is correct

Options :

212807116633. 1
212807116634.2
212807116635. 3
212807116636. 4

Question Number : 84 Question Id : 21280729159 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

A1 B Y ¢ Uk USRI (A) o &9 | fafad ¢ 9 gHU 35k HR0T (R) 6 &4 H
afirare A: @ vl i sifye ) a% et | fien 72 afew )

ST R : I | @re vyl 9 faeifa A 3R foeifa D &1 7dH 81 S 2
SR oAl o ded H, 4 fu U fasmredi § 9 waiferr ITga S F1 F97 FifS |
(1) ATMREA Wl € q91 R, A ol Tl =@ §

(2) A @RREH T& & o R, A 1 Tl =amen 78 €

(3) AT ? AfrT REE T

(4) ATETER AR RES T

Options :

212807116633. 1
212807116634. 2
212807116635. 3
212807116636. 4

Question Number : 85 Question Id : 21280729160 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ




Read the following information carefully and answer the question given below :

Following are the conditions for granting advance of ¥ 15 lakh to the farmers for purchasing a

tractor by a Gramin Bank. The farmer must :

L. have atleast six acres of cultivate land

II. not be more than 49 years as on 2.12.2013.

ITII.  be able to produce collateral of atleast ¥ 10 lakh.

IV. not have any outstanding unpaid loan from any bank.

V. Dbe able to produce recommendation letter from the Panchayat Pradhan

In case of farmer who satisfies all other criteria except.

at (I) above, but is able to cultivate more than one crop in each piece of land, the case is to be
referred to chairman of the bank.

Mohan was born on 2 Feb, 1980. He has seven acres of cultivate land. He has submitted a
recommendation letter issued by the Panchayat Pradhan. He can pledge collateral of more than
< 10 lakh. He does not have any unpaid loan from the bank.

(1)  If the advance is to be granted

(2) If the advance is not be granted

(3) If the data provided is not adequate, to take a decision.
(4) If the case is to be referred to the Chairman of the bank

Options :

212807116637. 1
212807116638. 2
212807116639. 3
212807116640. 4

Question Number : 85 Question Id : 21280729160 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ




Frmfafen gamedl o1 ermyds ug o) e fou o el 6 SaR €2
TrHor Sk g1 fRaE! 1 SRt wlied % fow 15 o 1 stfum e & w5 fefafea v ) e @
I. %9 Y %Y 9% Uhe Wl arg 4fF SHT e
I 31F2.12 2013 1 49 98 & stferss & 2t =nfa
III. %% Y HH 10 AN i Fleredd i FHiHd § Ga g =feu
1v. ot oft S & 0 srrrn o 76 2 e
V. UEEd YO Rl ST O WEd R Hehil
foram & wmrel | S S
() ol BISH =1 It AFSE Sl TU FHIl 7, <ifehd YH & WA Zohe H Tk H SA4F wod 3T H H&H
®, TEN o o JEREA (3Tee) 1 WS S 91 |
T o1 = 2 WREH 1980 I G o1 | 3HF U 7 The Wdl ! ST STHH ¢ | 367 I9Fd Yo g1 Th
fomrrrer o= geqa foeemn ©1 10 @@ & 1fere it Fereta &l ffHa & & 9am 81 39 W 9 &1 A g
EREGE]
(1) afe e feon st =nfeu |
(2) afg sifym =&l fean s =nfew)
(3) afe yem fohan 7o svere yate =&, fofa o & fam)
(4) Afg Aen S % HEREA I AT S Fieu

Options :

212807116637. 1
212807116638. 2
212807116639. 3
212807116640. 4

Question Number : 86 Question Id : 21280729161 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

In a certain code,

‘i me tee” means ‘roses are red’

“sik hee” means ‘blue flowers’

“tee mit hee” means ‘flowers are fruits’
How is “flower” written in that code ?

(1) L
(2) tee
(3) me
(4) hee
Options :

212807116641. 1
212807116642. 2
212807116643. 3
212807116644. 4

Question Number : 86 Question Id : 21280729161 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

“1i me tee’ T A %“ ‘roses are red’
‘sik hee” T Y 2 ‘blue flowers’
‘tee mit hee’ T 319 %‘flowers are fruits’

39 e H “flower’ il fhd WehR feran smam

(1) &
(2) tee
(3) me
(4) hee
Options :

212807116641. 1
212807116642.2
212807116643. 3
212807116644. 4

Question Number : 87 Question Id : 21280729162 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Arrange the given words in a logical and meaningful order :
A) Doctor

B) Treatment

C) Consultation

(
(
(
(D) Recovery
(
(
(
(

E) Illness

1 (®), (A) Q) (D), (B)

2)  (B) (©), (A), (D), (B)

3) (E) (A), (O), (B), (D)
(4) (D) (B), (©) (A), (E)
Options :

212807116645. 1
212807116646. 2
212807116647. 3
212807116648. 4

Question Number : 87 Question Id : 21280729162 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




I feu w=di Rl U difher 3R Tl e H sgafiem i |

(A) EfEX

(B) 3U=R

(C) THe

(D) SRFA

(E) amt

(1) (E) (A), (©), (D), (B)
(2) (E) (©), (A), (D), (B)
(3) (E) (A), (©), (B), (D)
(4) (D), (B), (C), (A), (E)
Options :

212807116645. 1
212807116646. 2
212807116647. 3
212807116648. 4

Question Number : 88 Question Id : 21280729163 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which of the option figure would complete the figure matrix :

®
®

~

®&0|&) R

Options :

212807116649. 1
212807116650. 2
212807116651. 3
212807116652. 4

Question Number : 88 Question Id : 21280729163 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

|Key Value




|Comprehension

[MCQ

A HI UG ki 39 AThia Hig &l T FHTT |

®
®

B0 I

Options :

212807116649. 1
212807116650. 2
212807116651. 3
212807116652. 4

Question Number : 89 Question Id : 21280729164 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

'Value

Comprehension

MCQ

In a certain code, ELEPHANT is written as QMFFUBOIL.

code ?

(1) BCMOBT]Z
(2) BBMOBT]Z
(3) BBMPBTJZ

(4) BBMNBT]Z

Options :

212807116653. 1
212807116654. 2
212807116655. 3
212807116656. 4

How is MALAYSIA written in that

Question Number : 89 Question Id : 21280729164 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

'Value

Comprehension

MCQ




& fafere g2 H, ELEPHANT %I QMFFUBOI & &4 H f@l Sl g | 39 e 9™ § MALAYSIA &l
fore gerr feran s |

(1) BCMOBTJZ

(2) BBMOBTJZ

(3) BBMPBTJZ

(4) BBMNBTJZ

Options :

212807116653. 1
212807116654. 2
212807116655. 3
212807116656. 4

Question Number : 90 Question Id : 21280729165 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

One out of these four options resembles the figure which is obtained by folding the transparent
sheet along the doted line. Find the answer from these figures.

Transparent Sheet

AN

A q x O <O |9 KO0
@ ® ®

1) (a)
(2) ()
(3) (©
(4) (d)
Options :

212807116657. 1
212807116658. 2
212807116659. 3
212807116660. 4

Question Number : 90 Question Id : 21280729165 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
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©

@) (b)

(1) ()
(2) (b
(3) (9
(4) (d)
Options :

212807116657. 1
212807116658. 2
212807116659. 3
212807116660. 4

Question Number : 91 Question Id : 21280729166 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

The bank setup by BRICS countries to support and foster infrastructure and sustainable development,
that is called new Development Bank [NDB]. Itis located at :
(1) Moscow, Russia
(2) Bloemfortein, South Africa
(3) Shanghai, China
(4) Mumbai, India
Options :
212807116661. 1
212807116662 2

212807116663. 3
212807116664. 4

Question Number : 91 Question Id : 21280729166 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

it 2= IR Tad faewm &1 gaeq R Feren <7 % fofu BRICS 39 g1 T1fud S &l = Saaruhe 5@
[NDB] %&d €, o8 el feerd § 2

(1) HERLEH

(2) SAHBRA, SET0T ST

(3) EE,EE

(4) WA

Options :
212807116661. 1
212807116662. 2




212807116663. 3
212807116664. 4

Question Number : 92 Question Id : 21280729167 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
Match List - I with List - I
List - I List - II
Metals/Non-metals (Applications)
(Compounds)
(A) FeSO,.4H,O () Lime and tooth paste
(B) Iodine (I,) () Cement Industry
(©) Cas0,.2H,0 (III) Antiseptic
(D) CaCOj, (IV) Dye Industry

Choose the correct answer from the options given below :
(1) (AHID), (B)-(), (OHIV), (D)ALL)

(2)  (AHD, (B)(1T), (OHIII), (D)-{1V)

(3)  (A)-(L), (B)-(IV), (O-0), (D)}-(II)

(4)  (A)-1V), (B)-(IID), (O)-I), (D)-()

Options :

212807116665. 1

212807116666. 2

212807116667. 3
212807116668. 4

Question Number : 92 Question Id : 21280729167 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Telt-1 § Feit-11 &1 THerH spifsru:
el TEAl-11

( entfeeren / 3rerfeeren ) (39T )
(A) FeSO,4H,0 () e 3R I
(B) Todine (I,) () HiHe ITm
(C) CaSO,.2H,0 (IIT) UZrafess (TAMuRiEs)
(D) CaCO, IS

ﬁ\%ﬁqmﬁaﬁﬁﬁ@nﬁmwaﬂ?ﬁmz
(A)-(II), (B)-(I), (©O)-(1V), (D)-(II)
(A)-(D), (B)-(1I), (O)-(I1I), (D)-(IV)
(A)-(IV), (B)-(IV), (C)-(I), (D)-(IT)
(A)-(IV), (B)-(1I), (C)-(I), (D)-(I)



Options :

212807116665. 1
212807116666. 2
212807116667. 3
212807116668. 4

Question Number : 93 Question Id : 21280729168 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Pollution is not caused by :
(1) Radioactive power plant
(2) Hydroelectric power plant
(3) Thermal power plant
(4) Automobile

Options :

212807116669. 1

212807116670. 2

212807116671. 3
212807116672. 4

Question Number : 93 Question Id : 21280729168 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
TG % O T
(1) Ufediydl sl w203
(2) S foed =i 93
(3) ATdE IS HAA
(4) STRI HEEA
Options :

212807116669. 1
212807116670. 2
212807116671. 3
212807116672. 4

Question Number : 94 Question Id : 21280729169 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Which famous chinese writter visited India in fifth century A.D. ?
(1) Fa-Hien

(2) Zackma

(3) Laotzu

(4) Robert
Options :

212807116673. 1



212807116674. 2
212807116675. 3
212807116676. 4

Question Number : 94 Question Id : 21280729169 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

form wfgs =it 9t 3 di=el sl S5t § vRa 1 SR feRan
(1) w-fEam

(2) SieRHT

(3) @AY

(4) T

Options :

212807116673. 1
212807116674.2
212807116675. 3
212807116676. 4

Question Number : 95 Question Id : 21280729170 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which is the largest neighbouring country of India ?
(1) China

(2) Srilanka

(3) Bangladesh

(4) Pakistan

Options :

212807116677 1
212807116678. 2
212807116679. 3
212807116680. 4

Question Number : 95 Question Id : 21280729170 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

A 1 qad 1 TSIE <90 A 9 T
(1)

(2) dicient

(3) HARY

(4) HifREE

Options :
212807116677 1
212807116678.2



212807116679. 3
212807116680. 4

Question Number : 96 Question Id : 21280729171 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
The first manned mission by India was announced on 15 August by Prime Minister of
India. This mission aims to send four Indian astranauts into space :
(1) 2018
(2) 2019
(3) 2020
(4) 2021
Options :

212807116681. 1
212807116682. 2
212807116683. 3
212807116684. 4

Question Number : 96 Question Id : 21280729171 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

YR 5 Tect A o THYM St SeoT 15 37
oYM =1 @187 IR A sfafter Tl =1 sfale § 95 81

(1) 2018
(2) 2019
(3) 2020
(4) 2021
Options :

212807116681. 1
212807116682. 2
212807116683. 3
212807116684. 4

T T % TUEHIT g 1 T ot 39

Question Number : 97 Question Id : 21280729172 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Kameng Elephant Reserve is located in

(1) Arunachal Pradesh
(2) Sikkim

(3) Nagaland

(4) Mizoram

Options :

212807116685. 1
212807116686. 2
212807116687. 3



212807116688. 4

Question Number : 97 Question Id : 21280729172 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

T Bl R T feerd g
(1) ST&EU=d qe¥l

(2) THfeRH

(3) FFRiE

(4) fHSiRH
Options :

212807116685. 1
212807116686. 2
212807116687. 3
212807116688. 4

Question Number : 98 Question Id : 21280729173 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Buxwaha mine is located in :
(1) Chhatisgarh
(2) Madhya Pradesh

(3) Assam
(4) Andhra Pradesh
Options :

212807116689. 1
212807116690. 2
212807116691. 3
212807116692. 4

Question Number : 98 Question Id : 21280729173 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
FrqaTel WeH TRy T | ferg &2
(1) BEwE
(2) T YA
(3) 3THH
(4) Ty weu
Options :

212807116689. 1
212807116690. 2
212807116691. 3



212807116692. 4

Question Number : 99 Question Id : 21280729174 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

The National Statistical Commission (NSC) was set up in

(1) 2000

(2) 1994
(3) 2004
(4) 2005
Options :

212807116693. 1
212807116694. 2
212807116695. 3
212807116696. 4

Question Number : 99 Question Id : 21280729174 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

T HifEAh! SR (NSC) Y wenfyq femam o an
(1) 2000

(2) 1994

(3) 2004

(4) 2005

Options :

212807116693. 1
212807116694. 2
212807116695. 3
212807116696. 4

Question Number : 100 Question Id : 21280729175 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Match List - I with List - I1.

List - 1 List - II
(A) Victoria (I) Island
(B) Madagascar (II) Lake
(C) Atlas (III) Desert
(D) Kalahari (IV) Mountain

Choose the correct answer from the options given below :
(1) (A, B)-@), (O-1V), (D)-(II)

(2) (A1), (B)-(1L), (O-(11D), (D)-(IV)

(3)  (A-IV), (B)-II), (-1, (D)-(O)

(4)  (AHUD, B)1V), (O-0), (DF(I)

s 1

212807116698. 2

212807116699. 3
212807116700. 4

Question Number : 100 Question Id : 21280729175 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Telt-1 § Feit-11 &1 THerH spifsru:

-1 TEll-11
(A) fogrfan () B
(B) WS () i
(C) Te@H™ () HEEA
(D) HIATRRI (IV) ged

== fou v faehedi O 9 WE SHT 1 994 i

(1) (A)-A0), B)-[1), (O)-(1V), (D)-(I1)
(2)  (A)-(), (B)-(ID), (O)-(11I), (D)-(IV)
(3)  (A)-IV), (B)(IL), (O)-(1), (D)-()
(4)  (A)-(D, (B)-(IV), (O-(1), (D)-(1)
Options :

212807116697. 1
212807116698. 2
212807116699. 3
212807116700. 4

Question Number : 101 Question Id : 21280729176 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




The permanent settlement had come into operation

(1) 1797
(2) 1795
(3) 1793
(4) 1791

Options :

212807116701. 1
212807116702.2
212807116703. 3
212807116704. 4

Question Number : 101 Question Id : 21280729176 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

W des He (IR HedHe 39) T ] g3 A1
(1) 1797

(2) 1795

(3) 1793

(4) 1791

Options :

212807116701. 1
212807116702.2
212807116703. 3
212807116704. 4

Question Number : 102 Question Id : 21280729177 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Ancient Indian Smriti texts do not include :
(1) Sutras

(2) Sambhitas

(3) Puranas

(4) Ramayana

Options :

212807116705. 1
212807116706. 2
212807116707. 3
212807116708. 4

Question Number : 102 Question Id : 21280729177 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Y 9Rd & Wi v | e & 8 1

(1) ¥

(2) HfEm

(3) T

(4) THEAW
Options :

212807116705. 1
212807116706. 2
212807116707. 3
212807116708. 4

Question Number : 103 Question Id : 21280729178 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

The tomb of famous musician ‘“Tansen’ is located at :
(1) Agra
(2) Gwalior

(3) Jhansi
(4) Jaipur
Options :

212807116709. 1
212807116710. 2

212807116711. 3
212807116712. 4

Question Number : 103 Question Id : 21280729178 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

g s aHEa’ & |qHIY H feorg g1
(1) &

(2) TEIfeR

(3) =

(4) SER

Options :

212807116709. 1
212807116710. 2
212807116711.3
212807116712. 4

Question Number : 104 Question Id : 21280729179 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Match List - I with List - II following are the Architectural Landmarks of sultan period match
with correct answer.

List - 1 List - II
(Structure) (Builder)
(A) Quwwat-ul-islam mosque (D  Ala-ud-din-Khilji
(B) Alai Darwaja () Ghiyas-ud-din-tughlaq
(C) Tughlagabad Fort (III) Qutub-ud-din-Aibak
(D) Moti ki Masjid (IV) Prime Minister of Sikandar Lodi

Choose the correct answer from the options given below :

(1) (A)-(0), (B)-(I1), (O-(1V), (D)-(I)
(2)  (A)-(1D), (B)-(1), (O)-(1), (D)-(IV)
(3) (A1), (B)-(IT), (O-(IV), (D)~(IM)
(4)  (A)-ID), (B)-(II), (O)-(IV), (D)-I)
Options :

212807116713. 1
212807116714.2
212807116715.3
212807116716. 4

Question Number : 104 Question Id : 21280729179 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Tell-1 FeTd el o T T Feit- 11 39 Tvierdal & @y fiem L
i1 TAl- 11

( HT=AT) ( frmiar)
(A) Fed-3d-3E™ ()  SFel-Se—SH-Taesi
(B) TS TSI () frEn-se-dm-qias
(C) Tershmag fehet (Il) FII-I5-F-Taeh
(D) Hrdt mifEste (IV) TEehet Sl =1 g =il

== fou U fasedi § 9 9 IR 1 999 Tey

(1) (A)-O), (B)-(), (O)-(IV), (D)-(IT)
(2) (A, (B)-(I), (O-(II), (D)-(IV)
(3)  (A)-(), (B)-(ID), (O(IV), (D)-(II)
(4)  (A)-(1D), (B)-(1I), (O-(1V), (D)-(0)
Options :

212807116713. 1
212807116714.2
212807116715. 3
212807116716. 4

Question Number : 105 Question Id : 21280729180 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



Question Key Details :

Key Value
Comprehension MCQ

‘Largest Natural Port” in India is
(1) Mumbai

(2) Vishakhapatnam

(3) Gujarat

(4) West Bengal

Options :

212807116717. 1

212807116718. 2

212807116719. 3
212807116720. 4

Question Number : 105 Question Id : 21280729180 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
I H ol oSl Hihiash siedmg T feo 71
(1) ==
(2) fewmEmeeTH
(3) T
(4) U= 9T
Options :

212807116717. 1
212807116718.2
212807116719. 3
212807116720. 4

Question Number : 106 Question Id : 21280729181 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which film won the ‘Film of the Year’ category award in the recent Dada Saheb Phalke National
Film Festival Award 2022 ?

(1) Shershaah
(2) Pushpa: The Rise

(3) KGF-2
(4) Tadap
Options :

212807116721. 1
212807116722.2
212807116723. 3
212807116724. 4

Question Number : 106 Question Id : 21280729181 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :



Key Value
Comprehension MCQ

T & H < Tied Tiesk Tt fhen mEea qrERr 2022 H fRg fhen 3 frem ofw g 3R Aol @
QEERI STl ?
(1) ¥

(2) TN T TES
(3) h.SITE.- 2
(4) dsd

Options :

212807116721. 1
212807116722.2
212807116723. 3
212807116724. 4

Question Number : 107 Question Id : 21280729182 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Who won the 2022 ‘Jnanpith Award’
(1) Jhumka Lahiri

(2) Damodar Mauzo

(3) Chitra Banerjee

(4) Rumaan Alam

Options :
212807116725. 1
212807116726. 2

212807116727. 3
212807116728. 4

Question Number : 107 Question Id : 21280729182 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
foher 2022 99 die gEERR St ?

(1) g elfest
(2) SHIE ARSI

(3) T wsit
(4) ®HA AH
Options :

212807116725. 1
212807116726. 2
212807116727. 3
212807116728. 4

Question Number : 108 Question Id : 21280729183 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



Question Key Details :

Key Value

Comprehension MCQ

SI unit of mechanical energy is

(1) newton

(2) erg

(3) dyne-cm

(4) joule
Options :

212807116729. 1
212807116730. 2
212807116731. 3
212807116732. 4

Question Number : 108 Question Id : 21280729183 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
it STl 1 SI HEH gl
(1) =

(2

(3) ErEA-TH

(4) S

Options :

212807116729. 1
212807116730. 2
212807116731. 3
212807116732. 4

Question Number : 109 Question Id : 21280729184 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which banks merged in to ‘Bank of Baroda’ recently ?
(1) Allahabad Bank

(2) Andhra Bank

(3) State Bank of Hyderabad and State Bank of Indore
(4) Dena Bank and Vijaya Bank

Options :

212807116733. 1
212807116734.2
212807116735. 3
212807116736. 4

Question Number : 109 Question Id : 21280729184 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

|Key Value




|C0mprehensi0n |MCQ

T & | i 1 Sk, S A% a<e § fgerg ge
(1) ToRERE 9%
(2) oTen o
(3) T2 d Itk ¥EEg AR T2 Fh 31 T8N
(4) W S& IR fasEn S
Options :
212807116733. 1
212807116734.2

212807116735. 3
212807116736. 4

Question Number : 110 Question Id : 21280729185 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which country of the world won the FIFA world cup maximum number of times ?
(1) Brazil

(2) France

(3) Argentina

(4) USA
Options :

212807116737. 1
212807116738.2
212807116739. 3
212807116740. 4

Question Number : 110 Question Id : 21280729185 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

fava & form <o 7 a9 s R FIFA fava &9 sfrar @2
(1) s

(2) hiE

(3) ST

(4) FUWEY
Options :

212807116737. 1
212807116738.2
212807116739. 3
212807116740. 4



